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WARM UP GRADE 8
Feb. X1, 2018 THINKING...
93 (PLEASE BE PATIENT)

The population of fish in a local pond were 125 000 in May 2000.
The population decreased by 43% due to a nearby oil leak. What is
the new population?
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http://www.taxtips.ca/provincial sales tax.htm

@ Sales Tax and Total Cost

Sales tax is money that you pay to the government on almost everything
that you buy. In NB, we pay harmonized sales tax(HST) which is 15 %

Provi 2017 Rate

Terr GSTHST PST

o .
Provincial Sales tax rate PO S
o 0 BC Consumer Taxes
BC 7% PST +5% GST " [»=] 7 [amarii
MB | 5% GST 8% Manitoba Retail Sales Tax
0/ S 5 ()/ GS NB  |15% HST| na |New Brunswick HST
AB 0 0 P T + 0 T NL  [15% HST nia Newfoundland & Labrador HST
NS [15% HST /i Nova Scotia HST
SK 5% PST +5%GST vt —
NU 5% GST nia
MN 7% PST + 8%GST ot R Sas T
0/ S oN [13% HsT| niaw TaxTips.ca Onfario HST
ON 13 0 H T Ontario HST
QC 9.975% + 5% GST* Prince Edward Island Retail Sales Tax
PE [15% HST n‘a
Prince Edward Island HST
N 15% HS
L o H T Quebec Consum ption Taxes - Businesses
NB 1 5 % HST ac 5% GST | 0.075% Quebec Consumption Taxes - Individuals
Basic Rules for GST and QST - rates
NS 1 5 (yo HST ‘SK 5% GST |5% / 6%™|Saskatchewan Provincial Sales Tax
FIKT | 5% GST nia
PE 15% HST 3
(1]

We pay sales tax on the price of the item, so to calculate the amount of
sales tax, we take 15% of the price. GST is 5%.

Example; A sweater sells for $45.
(a) find the amount of tax you have tgay.
(b) find the total cost of the sweater.
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http://www.taxtips.ca/provincial_sales_tax.htm
https://www.taxtips.ca/salestaxes/sales-tax-rates-2017.htm
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2. Find the amount of tax and total cost of a book that cost $15.
(a) Tax = | 0% o ) (b) Total cost [ 5 +F11LS
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3. Find the total cost of a stereo that sells for $229.99. ('\’ & o)
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Homework pg. 260 #4-9
(Use 15% HST for all questions)
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